Fimish Fluids éé“/
Cead 11.0-U1.of '

Ths weeks clickers are Boaws
to allews You. to make ‘7‘ A»
Some missed Clickess  Max (03
Cup o (0O7) -

. . - ca ~4:00
Boaus M.« avalaéle KC:;“} 'j

NO érau,o tHs week



lkmuwa

A/‘CAI‘M €oés ? 5&0}1«&‘ = w‘
o = Mﬁ?
:&W;

05,'«.'(' Saémuyc& A a fluig



ex U‘Q‘t’ '3 b“oa‘tﬂa? ;GI'CQ _a GL_

be.llooa -Fclle.Q wth Lo m Helruam
ot Sea /¢D¢l7.

b) what ¢ raw'(’a.t'(aota/ force on
t‘c. b‘ ”004,7

‘eﬂ‘m- c @» Ve @ < Cr Vbanaan 3 '”




? ex) rf 6. Crowa we.‘alte-tan« »
Scale 15 NIV and crova me?hd

in wate, s ?oOAJ, S Croewn Pa/‘;g
70(& r |




EX) A raft 5 Made of cuood 4407
O.IM&'GV of boo k}/ﬂ. Tts Surface
efea s 53 " aadl & Volume 15

0.6 #). How mack of ¢ 1s be lo e
wo.'('e/« /eo-e(’ |




Volume = Lxwx M
Area. = Lxe

Hecght oF raft = L’“‘“‘"_.: Voleme
oW
5&74‘22

-——
—

S e

fraction of rafe wader coaten

O LI 4

—
o

ol

T —

V-V P k&/@’ —_—

F rectcen S«‘d\u‘a&l = ratis of deasitie;



e deasty s Tee ka/q’

what Fractrea of ice 597_ abow m'te/«?
Fraction r«émcqo.ﬂ: 3:_“.2.1.2:.‘ =. 9

(0% above waten




Interactive Question

A boat carrying a large boulder is floating on a lake. The
boulder 1s thrown overboard and sinks. The water level |
in the lake, with respect to the shore

A) rises.
B) drops.
C) remains the same.



Interactive Question

Consider an object that floats in water but sinks in oil.
When the object floats in water, half of it is submerged.
If we m_oéq pour oil on top of the water so it ooB@_@ﬁJ\
covers the object, the object

A) moves up.
B) stays in the same place.
C) moves down.
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Interactive Question

Blood flows through a coronary artery that is partially
blocked by deposits along the artery wall. Through which
part of the artery 1s the flow speed largest?

A) The narrow part
B) The wide part
C) The speed 1s the same in both parts
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